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SYLLABUS : Alcohol, Phenol, Ether

1. Which of the following is not expected to be intermediate of the following reaction ?

OH
(=
@
5 OH,
(A) O (B) (é:f C) Ej (D) ij@

Con.HCI + Anhydrous ZnCl,

2. Ph—-CH,—CH-CH, > X (Major product)
H
XIis:
(A) Ph—CH ~CH-CH, (B) Ph—CH-CH,~CH,

3 3

(C) Ph—CH,—CH,~CH, (D) Ph—C—CH,
Cl CH.
) CH,MgBr .
3. CH,—CH, - ’ﬁ' — CH, “{m y g > Product is :
O

(|3H3 (l-‘:Ha
(A) CHS—CHE—(IJ—CHS (B) CH, - CH, - CH —Clle

OH OH
(C) CHE—CHE—?H — CH, (D) CH3—CHE—C|JH — CH,

OH CH,

PAGE NO. # 1



Which describes the best stereochemical aspects of the following reaction 7

CH,

%Et H-Br . Product
Ph

OH

A) Inversion of configuration occurs at the carbon undergoing substitution.

(
(B) Retention of configuration occurs at the carbon undergoing substitution.
(C) Racemization occurs at the carbon undergoing substitution.

(D) The carbon undergoing substitution is not stereogenic.

Ethylene glycol with PCI; gives —

(A) Ethylene chloride (B) Ethyl chloride
(C) 1, 1-Dichloro ethane (D) Oxyrane
CH4(CH,),CH,OH —2" X,

1-butanol

ldentify X and the mechanism of the reaction

(A)CH,—CH,—CH —CH,—Br & S1  (B)CH,—CH,—CH,—CH,—Br& S 2

(C) CHa—?H—CHE—CHa & S\1 (D) CH3—(|3H—CH2—CH3 & S, 2
Br Br
CH,
H OH PCls N X : (X) 1S
C.H;
(D-2-Butanol)
(A) S-2-Chlorobutane (B) R - 2-Chlorobutane
(C) Mixture of R and S 2-Chlorobutane (D) 1-Chlorobutane
NaNH,

6-Chlorohexan-2-ol > major product is

OH Cl
(A)HNN\/J\ (B) \N\E (C)O\NH (D)U

The product formed in the reaction ?

OH

»
Z

SOCI, Product,
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10.

11.

12.

13.

14.

15.

16.

17.

L J\ Sl » Product
0 pyridine, A

%  CH.OH

Product of the above reaction is :

Cl
) l\O,f\ o ® |\O/<(;’:'H © LO/(CH ) Q

Consider the following reaction.

OH C

| |
CH, ~ CH,— CH — CH,—29%k _, ¢H, - CH,- CH - CH,
ether

In the above reaction which phenomenon will take place :
(A) Inversion (B) Retention (C) Racemisation (D) Isomerisation

Butan-2-ol is obtained by using carbonyl compound and Grignard reagent as :

BEC TS (i) CHB—CHE—MQB; TR T (1) CH,—MgBr
(A) =1 (i) H,O / H® (B) CRAHCR,)-CR=0—= o o7
CH,
. I
H,C (i) CH,—-MgBr ) CH,~CH-MgBr
(C),  >C=0— " (D) CHE:O()__—WQ}
H,C (i) H,O / H (i) H,O / H*
LIAID,
The product of the reaction Ph,C=0 H.O° > 1S
(A) Ph,CD(OH) (B) Ph,CH(OD) (C) Ph,CD(OD) (D) None

Primary alcohols on first oxidation give

(A) aldehydes (B) ketones (C) both of the above (D) none of the above

Secondary alcohols on heating with copper at 300°C give

(A) Alkenes (B) Aldehydes (C) Ketones (D) tert-alcohols
Isopropy! alcohol on oxidation forms

(A) acetone (B) propionic acid (C) acetic acid (D) propene

In which of the following reaction ketone iIs formed :

@
(A) CH,—CH_-OH Ll LN (B) CH,~CH -OH __Cu/a |
CH,
(C) CH,—CcH -OH _Cu/a | (D) CHB_(I;_OH Cu/d |
'~'|3Hs cle?,
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18.

19.

20.

21.

22.

23.

24.

Which of the following compounds is resistant to periodic acid oxidation ?

(A) <|3HEOH (B) (I-“erOH (C) (|3HEOH (D) (IBHEOH
<|3O <|3Hg HOH CH,OH
CH,OH CH,OH CH,OH

Phenol reacts with conc. HNO, in the presence of conc. H,SO, to give —
(A) Meta nitrophenol

(B) Ortho nitrophenol

(C) Ortho and para nitrophenol

(D) Picric acid

Dehydration of alcohol is an example of :

A) addition reaction

(
(B) substitution reaction
(
(

C) elimination reaction
D

) rearrangement

Which of the following can work as dehydrating agent for alcohols ?

(A) H_SO, (B) ALO, (C) H.PO, (D) All of these
CH,

CH~C-CH,~CH, —="">*>  Major Product
OH

Major product is :

A >=— = o> o >/

\;‘{ Cone. H,50, | Major product is :
OH

(A) _ ( V4 (B) g_f (C) S__< (D) §_<
1\ >

CH,OH

CH,
In the given reaction : Conc.H,S04 | [X] as major product

[ X] will be :
CH, CH, CH, CH,
CH, CH, CH; CH,
(A) (B) (C) (D)
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25.

The relative rate of acid catalysed dehydration of following alcohols would be

o
e

i

CH— CH - CH,

I
CH,

C - CH, - CH,

OH
1

(A) 11> 1>V > 11

(B) LI >IV > > II

o

[1
CH,

C — CH,0OH

CH,
Y

[:::T,CH—C»Q—CHE4M4

(C)1> 11> 1V >

(D)L > 1V > 1> 1

d ANASWER KEY

1. (A) 2. (B 3. (A 4 () 5 (A 6 (B) 7. (B)
8. (D 9. (A 10. (A 1. (B) 12. (A} 13. (A) 14. (A
15, (C) 16. (A) 17. (C) 18. (B) 19. (D) 20. (C) 21. (D)
2. (A . (© 24 (B 25 *
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